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2. Determine whether the given series converges:
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3. Determine whether the series 2—/7 converges.
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4. Find the volume of the solid of revolution that is
formed by revolving the region bounded by the
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S. Find the area of an ellipse given by the formula
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6. Find the arc length of the graph of y = éx3 + 5
e

on the interval [2,4].
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7. Compare the exact value of integral f > dx

1+x°
with the approximation obtained by Simpson’s rule

forn=4.
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Each right answer is 15 points. Duration of the
exam is 80 minutes. Good luck.
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